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00000000000000:000 ¢yO00000000000000000
000 {LL,, L,L,} 00000At000000000000 At/200000
0000000000000000000000000000010000000
0000 P000000000000 2Y?2000000000Q % (k>1)0

(LaLy)k1

Qt — Lclc/QLy L.L, - L,L,L.L, Li/QQn (5.28)

O0000L, 0000000000000 0%M0000000000000CO

(5.28) 0000 Q" 0000000000000 00000xz000 yOOO

gbhbogoobobboooobbuoooobobobooooooon
gboobooogd

000 300000000000000000000000 #,¢, 200000
0000000000 L,, L, L, 00000000000000000 {L,L,L.,
L.L.L, L,L,L.. L,L.L, L.L,L, L.L,L,}06000000 (529000
0000000 3000000 At/6000000000000000000
000000000 (5.26) 000000000000000000000000
0ooo

~ B\

3P — L1/6L1/6L1/6 i L1/6L1/6L1/6 i L1/6L1/6L1/6
z Yy z z x Yy Yy T z
i L1/6L1/6L1/6 i L1/6L1/6L1/6 i L1/6L1/6L1/6
z Yy T T z Yy Y z xT
LYSLYSLYSLYCLBLYS LIPS LYS LY LB LY LS (5.30)
N /
D00000000O0ooOoo®oooooo/fo000o000ooooog L, O

Srtl, @"t?,...0 1000000000000000000L, 000000000 20
000000 (52800000000 k+100000L,0000000000000OO 3k
00000 2k+100000

‘00000000000000000000000000000000
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ooooooQE* (k>1) 000000000000 L, 00005k0 00
4k+20000000000000L,, Ly, L,O000C00O00CO0OOCO0O0O0O
OO0 13k 00 12k+20000000000L, 00000DO0OO0ODOOO0OO
goo
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0 OA 0O0000-—10000

RoeO0OUOOO 10D0OO00ODOOOOOLOOODOOODODOODODOD 1-2
gobouodgg 1 3gboooooboboogad

Al OO

goobbbobbdguogoobobbobobooooboboboboboboooon
goo

e I
000 common OO

program roe
implicit real*8 (a-h,o-z)
parameter (nt=80)
parameter (nx=100)
parameter (itorder=1)
parameter (gamma=1.40d0)
dimension q(3,0:nx),ql(3,nx),qr(3,nx)
dimension f1x(3,nx),flxco(3,nx)
dimension qt(3,0:nx)
10 common /flag/imuscl, imusclsuperbee, ico, icosuperbee
11
12|C initial condition etc.
13
N /
000 nt 0000000000000t nx 000ooooon
00000 iterder 00O O0OOOO0OOOOOO0OO0O 1000000000 10
go2000000000 20000000000000 vUOODO gamma OO0
0000 q(i,k) 0000 Q,000q1(i,k),qr(i,k) 00000000 OOOO
00 Q19 Qi 1, 000000 f1x(i,k) 00000 Ggoyyp 00 flxco(i,k)
O Chakravarthy-Osher OO0 0O 0000000000 OOODODOOOOOODOO
O00qt(i,k) DODDODO0O0O0O0DDODOO0O00O0O0O0ODDObOO00o0ooon
i=12300000000 pddnld pud 0000000 edd0doon
googad

goobboboboboooooooobobobobbobobbbobooooan

© 0 NS A oo~
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0000000000 ixODODOOODOOOODOOODOOOOODOOO

O000 MUSCL OO Chakravarthy-Osher 0000000000 OOOOO
O0000000ooooooo0ooooooOoOoOoooooboooooooo
OO00O00o0obOo00oo0ooboobooobbo0oobboobooooMUSCL OO
00000000 ql,qr0000000000O0DODO0ODODOOODOChakravarthy-
Osher DODOODOOODOODODO flxecoOUODOODODOODOODODOODOO 20
0000000000 gt000O000O0000O0ooooooooog

MUSCLODOOODOOODOOODOOOO0ODOO imuscl OO OChakravarthy-Osher
OO000000000O0DO0b0ObObD icobODbODObOODOODODOODOD
00000000000 0000DOOO000ODOOOoODOOOoOOOooODO
O00000000O0b0DO0o0oDO0obbO00bbo0d common DOOODOOODO
OO000000DO makeleftright() O roescheme() DO O DOOOOOOOOODO
common O OO 00O imusclsuperbee U icosuperbee OO OO OO MUSCL
00 Chakravarthy-Osher 000000000000 0OO0O0OODOODOOODOODO
O0000000D0O0000D00O0000 10000 superbee D0 OODOO0DO
OO0 minmod DO ODOODOO

A2 001000

b 1gggoboobboogobobbouogobbobougboboboooan

e N
001000000

1 if (itorder.eq.1) then

2|C 1st order in time

3 do it=1,nt

4 call copyvariable(nx,q,qt)

5 call makeleftright(nx,gamma,q,qt,ql,qr)
6 call roescheme(nx,gamma,ql,qr,flx,flxco)
7 if (ico.ne.0) then

8 call addcoflux(nx,flxco,flx)

9 endif
10 call advance(nx,dtdx,flx,qt,q)
11 t=t+dt
12 enddo
13 endif

. J

OO0 itorder DO UOUOO0DDODO0ODOUOOOOOitorder=1 J000OUOOOOOO
OO0O0000D0000 copyvariable() OO 20000 30000000000
OO000000000000 makeleftright() DOODOOOOO qU qtOODO
OO0000D0O0oD ql,qr00000booMUSCLOODODODOODOODOOOD
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O00000000D0O00000qO0O gt 000 200000000000000O
20000 MUSCLOOODODOOODOODOOD 2000000001000
000000000 (0000 qU qt)00000000000000DO0ODOO
roescheme() DO OO (236)J000 Roe 00 ODO0OO f1x 00000000
00 O Chakravarthy-Osher 000000000000 D0O0OOODOO flxcoODO
(349)0 Gry1,,00000000000000000000000 £f1xO0O (2.46)
0 (2.47),(248) 000000000000 0OOODODOOQO Chakravarthy-Osher O
O000000000D0000D00O0 addeoflux() OO OO OOflxco O flx
0000000000000 advance() 00O (2.13) 000000000 f1x0O
0400000000 QrUOOO0O0OOOOO QU OOs000000000
00000000000 20000000000000000 At/Az00000

A3 002000

b 2000000obbboobogooboboboogooboboaod
goboggobooboooan

e N
002000000

1 if (itorder.eq.2) then

2|C 2nd order in time

3 do it=1,nt

4|C first step

5 imuscl2=imuscl

6 imuscl=0

7 call copyvariable(nx,q,qt)

8 call makeleftright(nx,gamma,q,qt,ql,qr)
9 call roescheme(nx,gamma,ql,qr,flx,flxco)
10 call advance(nx,dtdx/2.0d0,flx,q,qt)
11 imuscl=imuscl2
12|C second step

13 ico2=ico

14 ico=0

15 call makeleftright(nx,gamma,q,qt,ql,qr)
16 call roescheme(nx,gamma,ql,qr,flx,flxco)
17 if (ico2.ne.0) then

18 call addcoflux(nx,flxco,flx)

19 endif
20 call copyvariable(nx,q,qt)
21 call advance(nx,dtdx,flx,qt,q)
22 ico=ico2
23 t=t+dt

(continue)

. /
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4 N
0oOo2000000
24 enddo
25 endif
26|C output etc.
27
28
29 stop
30 end
N v

OO0 itorder DO UOUO0DDO0ODOOOOOOitorder=20000000000
00000100 (0000 111oo0o00)oooMUSCLOOOoooooooo
O000000D00000000000D0OChakravarthy-Osher OO0 OO0
gbobogoobobodglgoobboboobuoooobobbod f1ixdd
000000000000 1000000000000 QY2 00000000
advance() 0000 qt 00O OOOOMUSCLOOOOOOOOO 200 (130
000 230000)00 makeleftright O 0000000000 q¢ 00000
O0000 qUDO00O00000000D00D00DO00D O Chakravarthy-Osher
O0O000D00O00b0Db0O0 2000 roescheme() DD OO0 flxcoOOODO
0001000000000 flxcoUDO 2000000 flx O addcoflux() O
oo0ogodbD imescl2 U ico2 D0 DOUOOOODOOOOOOODOOOOO
gbobooggoboboogoobod
00000000000000000000000000000000000'O

A.4 Roe [

RoeOOOOOODOOODOODOOODOODOODOODO

e I
Roe O

subroutine roescheme(nx,gamma,ql,qr,flx,flxco)
implicit real*8 (a-h,o-z)

dimension ql(3,nx),qr(3,nx),f1x(3,nx),flxco(3,nx)
dimension rm(3),sr(3,3),s1(3,3)

dimension f1(3),fr(3),fa(3)

common /flag/imuscl, imusclsuperbee, ico, icosuperbee

D N D GRS o Ao

gaml=gamma-1.0d0
(continue)

. /

DpOo0o000O0000000000000000O0
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e I
Roe O
9 do i=1,nx
10 call variables(nx,i,ql,gamma,rl,ul,el,pl,hl)
11 call variables(nx,i,qr,gamma,rr,ur,er,pr,hr)
12 call roeaverage(rl,ul,hl,rr,ur,hr,au,ah)
13|C left(sl), right(sr) eigen vectors, eigen values(rm)
14 call makematrix(gaml,au,ah,sl,sr,rm)
15 call fluxatmesh(rl,ul,pl,el,fl)
16 call fluxatmesh(rr,ur,pr,er,fr)
17 call soundspeed(gamma,pl,rl,cl)
18 call soundspeed(gamma,pr,rr,cr)
19 call fluxabsA(rm,sl,sr,rl,ul,el,cl,rr,ur,er,cr,fa)
20 do j=1,3
21 f1x(j,i)=(f1(j)+fr(j)-fa(j))/2.0d0
22 enddo
23 if (ico.ne.0) then
24 call coscheme(nx,i,ql,qr,sl,sr,rm,flxco)
25 endif
26 enddo
27 return
28 end
. J

OO00000 variablesO) DOODOUOOOODOOOODOO ql O gr0O00QOgn
0i000000000 p,00 «,0000000 ¢, 00 p,000000 AO
gobooosgdogboypbbbuuoooobooobobboobbooboog
00 roeaverage() ODUOUD auv,ah 00000000000 RoeOODOOODO
OO0O0O00000 makematrix() DO OO0ODOOODOOODOOOOOOOOOO
J0000000ooobooooUoD f10 fr00000D00 fluxatmesh()
0000000000000 fluxabsA() DO00ORoe 00000 |AJAQ ODOO
gooobbooooobbdogdudduoduubb feooboo g
0000000000000 (ul,ur)000 (cl,cr) D0O0O0DODOOODOODOO
OO000D000000D000 soundspeed) UOUODOOOOOOOOO 20000
0220000000000 Chakravarthy-Osher 0000000000 (ico #0)
OO0000000b0On0Od flxecoOODOOODO coscheme) OO OOOOONO
O0200000200000ico=0000000O0O0MOCcoscheme() UOOOMO
godd

A5 0000
000000000000000000000000000
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oood
subroutine advance(nx,dtdx,flx,qp,qn)
implicit real*8 (a-h,o-z)
dimension qp(3,0:nx),qn(3,0:nx),f1x(3,nx)
C flx(i)=FLUX(i-1/2)
do i=1,nx-1
do j=1,3
qn(j,1i)=qp(j,i)-dtdx*(f1x(j,i+1)-f1x(j,1))
enddo
enddo
return
end

- v
godogogbgbbubt fixdbgbdbdeaxdgnoonoonbon gpQ
0000000000 qunO00000000 100000 dtax0 At/Az0000
O000000000000000020000000 100000 dtdx = At/2Ax
0000200000 dtdx=At/Axz000000000000 flx(x,k) = Gr_1/2
goboogoogoboobbouoooooood

N DO 0NN A o~

~N

A6 O0OOOOOOOO

gbobobooooobbn ql,qrdgdobobobooogn

e N
0D00000oo0o

1 subroutine makeleftright(nx,gamma,q,qt,ql,qr)

2 implicit real*8 (a-h,o-z)

3 dimension q(3,0:nx),qt(3,0:nx),ql(3,nx),qr(3,nx)
4 common /flag/imuscl, imusclsuperbee, ico, icosuperbee
5

6|C q1(i)=QL(i-1/2), qr(i)=QR(i-1/2)

7

8 if (imuscl.eq.0) then

9|C no-MUSCL
10 do i=1,nx
11 do j=1,3
12 ql(j,i)=qt(j,i-1)
13 qr(j,i)=qt(j,i)
14 enddo
15 enddo
16 return
17 endif

(continue)

. /
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gooboooboo

18|C MUSCL

19 call muscl(nx,gamma,q,qt,ql,qr)
20 return

21 end

000000000000 MUSCLOOOOOOOOOO0OOOOOOOMUSCL
00000000000 imscl # 0 000000000000000000
muscl) 0000000000000000000 ql,qr 00000 ql(xk) =
QF 1)y ar(x,X) =QF ,, 0000000000000 musclO 0DO0OO (3.40),
(341) 0000000000000000000D0000000000000 q
000000000 ¢t 00000000000000 q0 ¢ 0000000 2
00000 200000000000000MUSCLOOO0OOOOONOOOO?2
0000010000 imuscl=0 00000000 0muscl() 000000000

A7 OO

000 AO0OOO0O0D00000000 ROOODODODOO0ODOD (booooo
O000000)R'0000wWOO0DODODO0ODOOD hOOODODOOODODOOOOO
a N

gdoboooodoboobooood

1 subroutine makematrix(gaml,u,h,sl,sr,rm)
2 implicit real*8 (a-h,o0-z)

3 dimension rm(3),sr(3,3),s1(3,3)

4|C temporary

5 c=dsqrt ((h-u**2/2.0d0) *gam1)

6 eta=gaml/c**2

7|C eigen values

8 rm(1)=u-c

9 rm(2)=u
10 rm(3)=u+c

11|C

12|C right eigen vectors

13|C sri

14 sr(1,1)=1.0d0

15 sr(2,1)=(u-c)

16 sr(3,1)=(h-c*u)

17|C sr2

18 sr(1,2)=1.0d0

19 sr(2,2)=u
20 sr(3,2)=u*x*x2/2.0d0

(continue)

. /
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e I
goooooooooooooooooo
21|C sr3
22 sr(1,3)=1.0d0
23 sr(2,3)=(u+c)
2/ sr(3,3)=(h+c*u)
25|C
26|C left eigen vectors
27|C sl1
28 s1(1,1)=(eta/2.0d0*ux*x2+u/c)/2.0d0
29 s1(1,2)=—(eta*u+1.0d0/c)/2.0d0
30 s1(1,3)=eta/2.0d0
31|C sl12
32 s1(2,1)=—eta*u**2/2.0d0+1.0d0
33 s1(2,2)=eta*u
34 s1(2,3)=-eta
35|C s13
36 s1(3,1)=(eta/2.0d0*ux*x2-u/c)/2.0d0
37 s1(3,2)=-(eta*u-1.0d0/c)/2.0d0
38 s1(3,3)=eta/2.0d0
39|C
40 return
41 end
. J

000 gaml =y—1000000 rm(i), sr(j,i),s1(i,j) (1,j=1,2,3)00
D000 AODOOOOODROR'ODOOOODOOD (i) DODOOOOOOO
000 sr(x,1)) 0000000000000 s1(i,x) OOOO

A8 0O0O0O

A8.1 0O0O0OO

gbobobouogogbbobooobbobbooogooo

e N
000000O00oo0o

1 subroutine initial(nx,gamma,rho0O,rhol,p0,pl,u0,ul,q)
2 implicit real*8 (a-h,o-z)

3 dimension q(3,0:nx)

4

5|C standard shock tube : 10=0.0d0

6 1u0=0.0d0

7|C sonic point check : u0=0.60d0

8|c u0=0.60d0

9 ul=u0

(continue)

. /
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4 N
oOoooooooooo
10
11 rratio=0.1250d0
12 pratio=0.10d0
18
14 rho0=1.0d0
15 rhol=rhoO*rratio
16 p0=1.0d0
17 pl=pO*pratio
18
19 do i=0,nx
20 if (i.1t.nx/2) then
21 q(1,1i)=rho0
22 q(2,1)=rho0*u0
23 q(3,1)=rho0*u0**2/2.0d0+p0/ (gamma-1.0d0)
24 else
25 q(1,i)=rhol
26 q(2,1i)=rholxul
27 q(3,i)=rhol*ul**2/2.0d0+p1/ (gamma-1.0d0)
28 endif
29 enddo
30 return
31 end
N /

A82 0O0O0ODOOOO

googuoobbbb gooogd 0bbb0dddd rho, OO w, OO
gogdd e, 00 p, U00DOD hOOOOOOUOOOOOOOOLODOODOO

goo

/

SO 0NN A o~

~

.

goooooo
subroutine variables(nn,i,qq,gamma,rho,u,e,p,h)
implicit real*8 (a-h,o-z)
dimension qq(3,nn)
rho=qq(1,1)
u=qq(2,1)/rho
e=qq(3,1)
p=(e-rhoxu**2/2.0d0) * (gamma-1.0d0)
h=(e+p) /rho
return
end

000 q1G,nx) 000000000 b0o0obuoooon

call variables(nx,k,ql,gamma,rho,u,e,p,h)
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000 ql(x,x) DO0OD0O00OD0DO0ODO0OD0O0ODO0O0O0qg@R,0:nx) UOOOODO
OO00boobddq(x,k) DOODO0ODLODOOODO0ODOOO0

call variables(nx+1,k+1,q,gamma,rho,u,e,p,h)

gboboogoobobboogoobodg

A83 OO

gbobobboogogbooboooboo

e N
00

subroutine soundspeed(gamma,p,rho,c)
implicit real*8 (a-h,o-z)

c=dsqrt (gamma*p/rho)

return

end

- v
OO0O0000O0bDb0OO0O ReeDODDOOOODODODOOODODDOOOODOODO
makematrix() OO OO0 0OOOOOOOOOOODOOOOOOOODOOO

v A Lo o~

A.8.4 Chakravarthy-Osher D000 O0O000000O00O0O

OO00000000DO0O000DOOChakravarthy-Osher DO O O0O0O0O0O0ODO
O0O0000opDb0ooobobobbOo0OonbDn addeofluxO) ODDODOOOODODO
goo

e I
Chakravarthy-Osher 0000000000000

1 subroutine addcoflux(nx,flxco,flx)
2 implicit real*8 (a-h,o0-z)

3 dimension flxco(3,nx),flx(3,nx)

4 do i=1,nx

5 do j=1,3

6 flx(j,i)=Ff1x(j,i)+flxco(j,i)
7 enddo

8 enddo

9 return
10 end

e
-
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A85 0O0OOOOO

gobobooooobbboooobobboogooboboooogn

4 N
goooog

1 subroutine copyvariable(nx,q,qt)

2 implicit real*8 (a-h,o-z)

3 dimension q(3,0:nx),qt(3,0:nx)

4 do i=0,nx

5 do j=1,3

6 qt(j,i)=q(j,i)

7 enddo

8 enddo

9 return
10 end

e
-

A9 OO

gbgbobogboobodbodboobuooboobobooboobooobda
gooooogn

e roeaverage() : Roe DO DO DODO..0O (2.32), (2.33)
e fluxatmesh() : DO OODO..0 (2.2)

e fluxabsAQ) : 0000000 DOO000 |AAQODOO
.0 (236) 000000000 (2.46)(2.48)

e muscl() : MUSCL 0O OO0000000...0 (340), (3.41) 0000 40

e coscheme() : Chakravarthy-Osher 000000000000 OODOOOO
.0 (349002000

O000000000D00OO0OOroeaverage(), fluxatmesh(), fluxabsA() OO

000000 12000000 10000 RoeODODODODOODOOmuscl(O)

O00000 MUSCLOOUODOOO 30000000000000 coscheme()

000000 Chakravarthy-Osher 00000 30000000000000O0O0
OO0o0O0oOoooooooood



